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Mathematics A L.K.No. 15 Paper Code No. 5191
Paper. | (Objective) Ist - A - Exam 2023 {eal it ) AP 1 g
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Note : Four possible choices 4,B,C,D to each question are given. Which choice Is correct, fill that circle in front of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that question.
Adj of [(1) j] is equals to : 4 D & 4lz Adj '4 [t j] 1/1;01;’
(a) [21 f] (B) [}, jf] © ['01_12] (D) [3 12] (1)
%%51/2 s @ 5 ® 202 o7 — f—g)_l/z @
loge = -~ where ez 2-718 : . ex2:718 £ —— = loge: (3)
(A) 0 (B) 0:433 (C) o0 (D) 1
Conjugate of Surd a +{b is -—r—: ' ¢ - MK 2 +{b s @
A) -a+{b (B) a-{b (©) Ja +{b (D) {a -{b
D LySBVANLLLw Bt  9a2-12ab| (5)
What will be added to complete the square of 9a2-12ab
(A) -16b2 (B) 16b> (C) 4b> (D) -4b°
H.CF. of x>~ 5x + 6 and x°- x= 6 i§ wwomeee : e Bl ¥ P x- 64 KP-5x+6] (6)
&) x-3 (B) x*t2 (O x -4 (D) x-2
AN I 434 1600 whiens e § LB g b ol ()
If ‘the capacity " ¢" of an elevator is at most 1600 pounds then --------:
(A) <1600 (B) ¢2>1600 (C) c<1600 (D) c >1600
Point (-3,-3) lies in the Quadrant : el B LR(-3,-3) B @)
(A) I ® I (€ m (D IV
Mid - Point of the points (-2,2) and (2,-2) is -—- g 4 ;.--—-Jz‘ﬁ(}y/:( (2,-2) 41 (-2,2) b6 (9)
(A) (2,2) B (-2,-2) (© (0,0) (D) (1,1)
A Ray has -—--- end points : gL g T2 L (10)
(A) o (B 3 © 2 (MO 1
In a Parallelogram, opposite sides are —-——-- 2 DLt e QU WL Ui | (1)
(A) Parallel (15 (B) Perpendicular (2 (C) Intersect &6 (D) Concurrent Lis
b S 1 I Ol ¢ ot LB BN (12)
Any point on the Right Bisector of a line is equidistant from —- :
(A) Mid Point B (B) End Point <~ (C) Point of Intersection 2645 (D) Any Point ﬁu’v’(
Symbol used for Similarity is : L el o 2L 85 (13)
a = ® =2 © = (D r
;ugz.u{,-u;:rwunmz.w‘fzqmwrvz,;L ----- (14)
The Interior of a Triangle is the part of the —-enclosed by the Triangle
(A) Plane (5 (B) Square 8/ (O) Rectangle JP (D) Parallelogram  {Woul$ii#
The —- Altitudes of an Isosceles Triangle are congruent : : (Il J‘ LGt LB IS (15)
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Note : it is compulsory to attempt(6--6) parts each from Q.No.2,3and 4. Attempt any (03) questions from Part Il while Q.No.9 is
compulsory. Write same Question Number and its Part Number as given in the question paper.

[36=2x18|, ; . o f g1 3t )
Make diagram where necessarz. £ L«.u‘( J}nd»/‘ul{z (Part | ) d),.&? B e ‘p__ ‘ " l}
Find Product . [ 1 2 ] [ Z ] -grﬁ“}’ b~ @) 24
Define Square Matrix. -&1.5,//‘7 g S, Gy
Simplify. 3 :287 JE5 (iii)
S . y S
Express 1 +1 2 in the Standard Form a+ib -‘.{ﬂwu: a+ib Yol ! 1+2i =
=X "

Find the value of 'x' when : logg,8 = > s Zj-fr:‘” ed Jix V)
Calculate. & log23 X logg’8 -’.ér)b’ogc.ugfwiﬁ' (vi)

2 R
Simplify. (x*-49) » ——5)("—’;27 &P i)
Simplify. V3 (243 + 343 ) . -& 7 (viii)
Factorize. 3x - 243x° _édf (ix)

2
a+b a“ - ab . ;
Simplify. + W 3
P a2 - 2ab + b2 '

Solve for "x ", |2x+5|= 11 “Zebad v iy
Define Linear Inequality in One Variable. ‘ -i_y/" d’ .;-,l;l/ﬁf‘jj;.,‘_f (ili)
Define Origin. S e )

S Ll g 2x-y+1 =0 I (-1,1) 48 SZEG i ()
Verify whether the points (-1,1) lies on the line 2x-y+1 =0 or not ?
Find the Distance between Two Points if S(-1,3), R (3,-2)ﬁ£()‘“ Lol s £ 16 9 (vi)

Define Parallelogram. -2".:4/7 J Lo (vii)
What is meant by S.A.A. T S.AA? ?‘aﬂ/,_l/ & S.AA. T SAA. (vili)

ekt od § sl x I Qs ABCD At S, (%)

In the given figure ABCD is a Parallelogram , then find value of "x and m "

D ‘ c
: (5m + 10)0 11x°

55° ‘
A B .

What is meant by Bisection of an Angle ? s " ?‘4)1/9(4._3;"; J é,,lj‘fr 0 44U
J&t.ﬁ?u./’b’ufygfbl&f » L wfi&ﬂ #Un 5cm 12 cem, 13 cm QQ’UJCWIéw.g A (it
by

If 13cm,12cm and 5cmare the lengths of a Triangle, then verify that difference of

measures of any two sides of a triangle is less than the measure of the third side.

Define Proportion. : -’r_f-:r ._?/7 J ol (i)
State the converse of Pythagoras Theorem. -':.‘J.‘:L:JL« auf (s ,J?u‘g (iv)
Define Triangular Region. -é_ﬁ/ Y g jm&”' v)
Define Incentre. _ ~£’-¢‘J}7 J 7}(3»1'_ (vi)
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Find the unknown value in « J7 em -cffr:"‘/w'r)'”tufd"u@: (vii) :
the given figure :

lcm :

= |

Find the "Area of the given figure. -2{(}"’ 6 N 6{5; (viil) i
!
4 cm 5
1
mAB=4.8cm,mBC=3.7cm, mLB=60° AUk ABC &4 (ix) f

— — 1
Construct a Triangle ABC in which mAB=4.8cm, mBC=3.7cm, m/B= 60° :
i
24 = 8x3 (Part 1) r1e ;
- ’ 1

dx+y =9

(4) y -é‘fc.. 4 J J)" Z uds (L) S/JLV
-3x~-y=-5 g
; 5 ; dx + y = }
Solve by using the Matrix Inversion Method. i
-3x-y =-5 !
(4) Use Laws of Exponents to Simplify. _éf:" e 34 & Vet ) |
* 1
!
@)™ . 3% —(3)"M 1 (243 :
i
!

2n 3
(9 (3)
(4) Use Logarithm to find the value of :

A0 O P Z&‘ () 6/'0'/;
i

(8+97)% x (3-95)% !

3[15.37

@ i P =240 S ()
P
If P=2+{3 ,then find the value of PZ--—2
P
) e § LEAMBn Sitmea § AL () 7/ny
‘Factorize the following Cubic Polynomial by Factor Theorem.
3

X"+ 5x -2x - 24
i -2‘%&/‘}‘:11.&@»;&25(#&2 Susem a1 (L)
Find the value of 1 and m for which the following expression will become perfect square.

49x% - 70x3 + 109% + Ix-m

4-3x
(4) Solve the Inequality. 5 —5— <1 &S abld (D) S/J'!’
) S oot L Uil s £k ABC &4t (&)
Construct the Triangle ABC and draw the Bisectors of angles
mAB = 3.6cm s mBC=4.2cm s mZB = 75°
8) Gln B ot LG £ ke S ek 0|
Prove that the Right Bisectors of the sides of a Triangle are Concurrent.

OR W
-Juﬂ A4 Jods 03 Inisls Lo sl sl Z o u.‘.ﬂﬁ‘ UT.,J S 2.{..:/;5‘

Prove that Triangles on Equal Bases and of equal altitudes are equal in area.

T s e =
T T " . o o~ o o . . .o .
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Note : Four possible choices A,B,C,D to each question are given. Which choice is correct , fill that circle in front of that question

number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question.

The Characteristic of 5.79 is ------ : R ¥ (.‘.J(ﬂ L 5.791 /i
Ay 1 B 0 < -1 (D) -2 @
The value of i’ is ————e: (A) -i (B) 1 (O -1 (D) i Jp— N
Which Order is of a Square Matrix : 8 e ¥ A G o Lo i (3)
(A) 1- by-2 (B) 2-by-2 (C) 2-by-1 (D) 3-by-2
2 .2 2 .2
= -b
=t is equal to - N = )
a+b 2 5 a+b
(A) (a-b)” (B) (a+b)” (C) {a+tb) (D) a-b
If 'x'is no longer than 10 , then : 2 ke 10&{‘,’.(! 'x'/q (5)
A x>8 @B x<10 (O x<g 10 D x >10
H.C.F. of a3+ b3 and az-ab + b2 is - e ¢ az-ab +b2 2! a3+ b3 (6)
(A) a+b (B) a>-ab+b>(C) (a-b)> (D) a>+ b>
What will be added to complete the Square 9a%-12ab : Lu‘/ o} Jiﬁ&-l’ad/;ﬂ( £ 9a% - 12ab (7)
(A) -16b> (B) 16b> (C) 4b® (D) - 4b°
If (x,0) =(0,y), then (x,y) is : : e 4z (x,y) M (x,0) = (0,y) S (8)
(A) (0,0) (B) (1,0) () (0,1) (D) (1,1)
The Right Bisectors of the Three Sides of a Triangle are :  : JtZ s i#tnf L Lol UF £ adb )
(A) Congruent J" * (B) Collinear % (C) Concurrent ﬂ(i (D) Parallel (i1
~ . ~
= Symbol is used for : : q_,(}ndt&lé_‘jryw J =1 (10)
(A) Congruent J‘l}‘ (B) Similar . (C) Ratio c;w' (D) Proportion ¥
The Mid Point of the Points (-2,2) and (2,-2) is : e Ben ¥ (2,-2) #(-2,2) 58] (11)
(A) (2,2) (B) (-2,-2) (C) (0,0) (D)(1,1)
A Line Segment has ----- end points : Dol g L o ..g 12)
A) 4 B 3 (© 1 (D 2
cdn e S gy £ gee 30° s ol g nb £ 2BAUIGE] (13)
One Angle on the base of an Isosceles Triangle is 30°, what is the Vertical Angle :
Aa) 30° ® 6° © 9° » 120°
The area of given figure is : 6cm el F &5; (14)
1
12cm
(A) 6cm? (B) 12cm® (C) 72cm® (D) 36cm>
: Ju:z d s c,bayirimatb=ctd A (15)

If a:b=c:d,then a,b,c and d are said to be in :

(A) Proportion ¥ (B) Ratio o+’ (C) Equal 4l (D) Unequal (slst

--------- PR I H P Y

L/




2020.2022) to (2022-24) f¥ 1:?..,3)’ / S.8.C(Part-1)| 16 - S o A
Mathematics ( Subjective ) | 60: Zf &£2:10 &% | Ist- A - Exam 2023 (&) .,

S P SIS fe i LAz (8- 6)L iy =t 4a3,2 A )rins § <Al $
5By g g IR Sl 8o (QWdina g0 0 Aoy S v &

Note : It is compulsory to attempt (6 8) parts each from Q.No.2,3and 4. Attempt any (03) questions from Part |l while Q.No.9 Is
compulsory. Write same Question Number and its Part Number .as given in the question paper.

L Make diagram where necessary. -J’hu"{&ndnﬁut{? ] ! ( Part "l ) d,;‘:;,
: - ' Laﬁg 4 ﬁz_.ﬂ Bop- 2-23

If B= [; ;] then verify that (Bt)t = B J/Z:Qﬂ;‘ B = [12 ;] A6 24

Find Determinant of : B = [i 42] v A gr)‘“&".’ (ii)

Define Trichotomy Property. «2:’:.51/7 g :—:‘Géw‘ (iii)

Simplify. (x3)2 - x32 -2{/” " (iv)

Find the value of 'a' if : loga6 = 05 : ﬁép”‘o& J 'a' (v)

Define Logarithm, -é-.g’/"; J (gﬂ (vi)

Rationalize the Denominator . mls- e Lk Pt g F il

¥ x=V3+2 then find the value of x + -;— -ép‘-@‘!J X + ‘,!(" I x=V3+2 A i)

Factorize, x*- 1ix -42 ’-é'df (ix)

Define L.C.M. -é,y/"[ ‘ﬁ_ju;,; (i) 3/d,,

Solve the Equation. J3x+7 =2 S S bl (i)

Solve for 'x'. _ l2x + 5] = 11 <& e f (i)
-’.g{rkﬁ:éJ e! u"m'».’éi.)}:lﬂﬂf(;y = mx+cs x - 2y = -2 obie 6{5) (iv)

Find the value of 'm' and 'c' of the line x - 2y = -2 by expressing in the form of
y=mx +¢ ‘
Draw the graph of the given equation. y =7 - .~ ..Jlf ¥ cybLAé&, v)
-G beiden € A(-8,1), B(6,1) 48 » L2y ()
Find the distance between the two given points A(-8,1) ,B(6,1)
el Blen € BB 2 Lu S Uiz £ A(-4,9),B (-4,-3)46 L& (wii)
Find the Mid - Point of the Line Segment joining the given pairs of points A(-4,9),B (-4,-3)

What is meant by S.A.S. <'5.A8.7 fee ks U ¥ S.AS. = S.AS (viii)
What is meant by Point of Trisection ? feslry o atii (ix)
"‘* W 4 @ —— - +—p . .
If CD is Right Bisector of Line Segment AB then ‘F C M it € AB A5 CD 1 (1) 44U
@ O e " o) B mOA = - (i)
() mAQ = — \/ MAD = ()
Q
IP

AU S L £ sl 5em dem,3em Zagh (1)
Verify that 3cm,4am and 5cm are the sides of Triangle.

Define Proportion. _i._g/" g vl (idd)
Define Pythagoras Theorem. - ; Ay e 2flike (iv)
Define Point of Concurrency. s B w)
Define Median of Triangle. ' -éh.g/ J Sl £ 8 (vi)
Write the name of these symbols, 4 , > -éﬁ%t&otﬂowl {vii)
{PT.0}
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Find the value of ' x ' -z-i«},lv =d J ' x ! (vii)
X JZ cm
1cem
Find Area of Figure. % e -é(}"" & (ix)
4 cm
o
(8x3 =24) (Part I1) P2
@ S el U Luds S 0 &l 2 () 5
Solve the System of Linear Equations by the Matrix Inversion Method.
) 4x +2y = 8
3 -y = -1
@ Simplify. | \](216 Pl o5yl * 2 ()
(0-04) 1/2
(4) Use Log Tables to find wren. _ér,w_,,g,_uwwgg () 64y
the value of )
0.0234
4) _Ei:(ﬁ’@fg!xy+yz+zx ] xz-!-y2+z2 =64 U x+ty+tz =12 /7 (&)
If x+y+z =12 and x2+y?'+z2 = 64 then find the value of xy + yz + zx
@ | Pl K D a6 - 0F G (x2) S 1Ay
If (x+2) is a factor of 3x% - dkx - 4k> , then find the values of "K™"
(4) ¢ Jn gf :4”:(5/ 'x'iLLbzé/J; / 9x4—12x3 + 22x2 -13x+12 12 )

3 2

To make the expression 9x4-12x +22x°-13x +12 a perfect square, what

should be the value of 'x'?

(4) Solve the Inequality. .5« 4-3x i ErS e () 8 Ay
2 2
? - e &l Ly sl XYz &4 (L)

Construct a Triangle XYZ and draw their Medians.
mXY = 4-5cm,mﬁ =3+.4cm, mZX = 5+.6cm

®) et MBI o U L B L gyt S S e 9
Prove that any point on the Bisector of an angle is equidistant from its arms.
OR &

-Ju:t Lz S BiesUn 4l L sl el L u.‘?w &l J é.:f.b

Prove that Triangles on Equal bases and of equal altitudes are equal in area.




